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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

Ã[˝Ár—Ù◊[˝p˚ÁX ( Political Science ) 
ac˜ÁÃ^Eıı YÁPˆy‘]-1 (Y“U] Yy) 

Subsidiary-1 (Paper-I) : Political Theory and 
Institutions 

NEW SYLLABUS 

 (From July 2012 Enrolment Session) 

a]Ã^  f ◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) Ã[˝ÁLX›◊Tˆ %X«`›_„X ]ÁEÔıa›Ã^ V ◊rÙ\ˆ◊Ü◊ªRÙO ◊[˝‰`¿bS 

EıÃ[˝”X* 
 (F) Ã[˝Á‰r—ÙÃ[˝ Y“E ı◊Tˆ a+„EÔı \ˆÁ[˝[˝ÁV› Tˆ√º¯◊ªRÙO ◊[˝‰`¿bS 

EıÃ[˝”X* 
 (G) LXEı_ÓÁSEıÃ[˝ Ã[˝Á‰r—ÙÃ[˝ EıÁ^ÔÁ[˝_› [˝ÓÁFÓÁ EıÃ[˝”X C TˆÁÃ[˝ 

]…_ÓÁÃ^X EıÃ[˝”X* 

 (H) Ã[˝Á‰r—ÙÃ[˝ aÁ[˝Ô„\ˆÏ◊]EıTˆÁ a+„EÔı [˝ß±º̂[˝ÁV› Tˆ√º̄ ◊ªRÙO [˝ÓÁFÓÁ 
EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) Ã[˝ÁLX›◊Tˆ a+„EÔı XÁÃ[˝›[˝ÁV›„VÃ[˝ [˝N˛[˝Ó %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 
(F) GÁ◊μ˘ ◊Eı ÈXÃ[˝ÁLÓ[˝ÁV› ◊ªK˜„_X ? ^«◊N˛ ac˜EıÁ„Ã[˝ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 
(G) ]ÁEÔıa›Ã^ a]ÁLTˆ‹óˆ C GSTˆÁ◊‹óˆEı a]ÁLTˆ„‹óˆÃ[˝ ]„W˝Ó 

YÁUÔEıÓ ◊XSÔÃ^ EıÃ[˝”X* 
(H) "a„[˝ÔÁVÃ^' %Á„≥VÁ_X a+„EÔı LÃ^Y“EıÁ` XÁÃ[˝ÁÃ^„SÃ[˝ 

%◊\ˆ]Tˆ ◊[˝‰`¿bS EıÃ[˝”X* 
(I¯) ◊•-Eıl˘◊[˝◊`rÙ %Ác ÕXa\ˆÁÃ[˝ Y„l˘ C ◊[˝Y„l˘ ^«◊N˛m◊_ 

ae„l˘„Y ◊[˝[˝ Tˆ EıÃ[˝”X* 
(ªªJÙ˜) AEı◊ªRÙO %ÁV Ồ ae◊[˝W˝Á„XÃ[˝ È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w Ã̄[˝ ◊VX f 6 × 4 = 24 
(Eı) Ã[˝Á‰r—ÙÃ[˝ =‡ˆ[˝ a+„EÔı ªRÙO]Áa c˜[˝aÀ-AÃ[˝ [˝N˛[˝Ó =‰{F 

EıÃ[˝”X* 
(F) [˝ÁLÁÃ[˝W˝]fi a]ÁLTˆ‹óˆ C Ã[˝Ár—Ù›Ã̂  a]ÁLTˆ„‹óˆÃ[˝ ]„W˝Ó 

YÁUÔEıÓ ◊XSÔÃ^ EıÃ[˝”X* 
(G) %Á‹ôˆL¤Á◊TˆEıTˆÁ[˝Á„VÃ[˝ a„Ü aÁ[˝Ô„\ˆÏ◊]EıTˆÁÃ[˝ a+EÔı 

ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(H) "=Y◊Ã[˝„aÏW˝' [˝_„Tˆ %ÁY◊X Eı› Â[˝Á„MıX ? 
(I¯) Y«Ã[˝a]ÁL Eı› ? 
(ªJÙ) "a„[˝ÔÁVÃ^' W˝ÁÃ[˝SÁ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 
(ªK˜) %Ác ÕXa\ˆÁÃ[˝ l˘]TˆÁÃ[˝ ‚—˜Á„aÃ[˝ ÂYªK˜„X EıÁÃ[˝Sm◊_ 

◊[˝‰`¿bS EıÃ[˝”X* 
(L) Ã[˝ÁLÍX◊TˆEı V_ C ªJÙÁYa ◊rÙEıÁÃ[˝› ÂGÁúˆ› a]…„c Ã̃[˝ YÁUÔEıÓ 

◊XSÔÃ^ EıÃ[˝”X* 
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English Version 

1. Answer any two questions : 20 × 2 = 40 

 a) Analyse the Marxian approach to the study 

of politics.  

 b) Analyse the Idealist theory of the nature of 

the state.  

 c) Discuss and evaluate the functions of the 

welfare state. 

 d) Explain the pluralistic theory of sovereignty 

of the state.  

2. Answer any three questions : 12 × 3 = 36 

 a) Discuss the feminist view of politics. 

 b) Was Gandhi an anarchist ? Discuss with 

reasons.  

 c) Identify the differences between Marxist 

Socialism & Democratic Socialism.  

 d) Analyse the views of Jayaprakash Narayan 

on the 'Sarvodaya' Movement.  

 e) Explain, in brief, the arguments for and 

against Bicameral Legislature.  

 f) Discuss the features of an ideal 

constitution.  

3. Answer any four questions : 6 × 4 = 24 

 a) Mention the views of Thomas Hobbes 

regarding the origin of the state.  

 b) Identify the differences between market 

socialism and state socialism.  

 c) Discuss, in brief, the relation between 

internationalism and sovereignty.  

 d) What do you mean by 'superstructure' ?  

 e) What is a civil society ?  

 f) Explain the concept of 'Sarvodaya'.  

 g) Analyse the reasons behind the declining 

power of the legislature.  

 h) Point out the differences between the 

political parties and pressure groups.  

    
 


